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'G4Eт=8к4< ООО «Ле6ел �Dуп» 

�=е=8е 

�K пDо6ел8 4уд8т ко=Eол8д8Dо64==о9 D8=4=Eо6о9 отGет=оEт8 О5IеEт64 
E о7D4=8Gе==о9 от6етEт6е==оEтLN «Ле6ел �Dуп» 8 е7о доGеD=8E оD74=874F89 («�Dупп4»), 
EоEтоOIе9 87 ко=Eол8д8Dо64==о7о отGет4 о D8=4=Eо6о< поло6е=88 по EоEтоO=8N =4 
31 дек45DO 2023 7од4, ко=Eол8д8Dо64==о7о отGет4 о пD85Kл8 8л8 у5Kтке 8 пDоGе< 
Eо6окуп=о< доEоде, ко=Eол8д8Dо64==о7о отGет4 о5 87<е=е=8OE 6 к4п8т4ле 8 
ко=Eол8д8Dо64==о7о отGет4 о д686е=88 де=е6=KE EDедEт6 74 2023 7од, 4 т4к6е 
пD8<еG4=89 к ко=Eол8д8Dо64==о9 D8=4=Eо6о9 отGет=оEт8, 6клNG4O EуIеEт6е==уN 
8=DоD<4F8N о5 уGет=о9 пол8т8ке. 

�о =4Hе<у <=е=8N, пD8л474е<4O ко=Eол8д8Dо64==4O D8=4=Eо64O отGет=оEтL 
отD464ет доEто6еD=о 6о 6EеE EуIеEт6е==KE от=оHе=8OE ко=Eол8д8Dо64==ое 
D8=4=Eо6ое поло6е=8е �DуппK по EоEтоO=8N =4 31 дек45DO 2022 7од4, 4 т4к6е 
ее ко=Eол8д8Dо64==Kе D8=4=Eо6Kе Dе7улLт4тK 8 ко=Eол8д8Dо64==ое д686е=8е 
де=е6=KE EDедEт6 74 2023 7од 6 Eоот6етEт688 E �е6ду=4Dод=K<8 Eт4=д4Dт4<8 
D8=4=Eо6о9 отGет=оEт8 («�!ФО»). 

ОE=ова=8е длO вODа6е=8O <=е=8O 

�K пDо6ел8 4уд8т 6 Eоот6етEт688 E �е6ду=4Dод=K<8 Eт4=д4Dт4<8 4уд8т4 («�!�»). 
�4H4 от6етEт6е==оEтL, Eо7л4E=о ук474==K< Eт4=д4Dт4<, д4лее D4EкDK64етEO 6 D47деле 
«От6етEт6е==оEтP 4уд8тоD4 74 4уд8т ко=Eол8д8Dо64==о9 D8=4=Eо6о9 
отчет=оEт8» =4Hе7о 74клNGе=8O. �K =е7468E8<K по от=оHе=8N к �Dуппе 6 
Eоот6етEт688 E ПD468л4<8 =е7468E8<оEт8 4уд8тоDо6 8 4уд8тоDEк8E оD74=874F89 

8 КодекEо< пDоDеEE8о=4лP=о9 Qт8к8 4уд8тоDо6, пD8<е=8<K<8 к =4Hе<у 4уд8ту 
D8=4=Eо6о9 отGет=оEт8 6  оEE89Eко9 ФедеD4F88, 8 КодекEо< Qт8к8 
пDоDеEE8о=4лP=OE 5уE74лтеDо6 Со6ет4 по <е6ду=4Dод=O< Eт4=д4Dт4< Qт8к8 для 
5уE74лтеDо6 («КодекE !�!Э�»), 8 =4<8 6Kпол=е=K пDоG8е Mт8GеEк8е о5O74==оEт8 
6 Eоот6етEт688 E Mт8<8 тDе5о64=8O<8 8 КодекEо< !�!Э�. �K пол474е<, Gто 
полуGе==Kе =4<8 4уд8тоDEк8е док474телLEт64 O6лONтEO доEт4тоG=K<8 8 
=4дле64I8<8, Gто5K Eлу68тL оE=о64=8е< длO 6KD46е=8O =4Hе7о <=е=8O. 
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ОтветEтве==оEтP DуководEтва 8 л8F, отвечаNщ8E 7а коDпоDат8в=ое упDавле=8е, 
7а ко=Eол8д8Dова==уN D8=а=EовуN отчет=оEтP 

 уко6одEт6о =еEет от6етEт6е==оEтL 74 под7ото6ку 8 доEто6еD=ое пDедEт46ле=8е 
ук474==о9 ко=Eол8д8Dо64==о9 D8=4=Eо6о9 отGет=оEт8 6 Eоот6етEт688 E �!ФО 8 
74 E8Eте<у 6=утDе==е7о ко=тDолO, котоDуN Dуко6одEт6о EG8т4ет =ео5Eод8<о9 
длO под7ото6к8 ко=Eол8д8Dо64==о9 D8=4=Eо6о9 отGет=оEт8, =е EодеD64Iе9 
EуIеEт6е==KE 8Eк46е=89 6EледEт68е =едо5DоEо6еEт=KE де9Eт689 8л8 оH85ок.  

�D8 под7ото6ке ко=Eол8д8Dо64==о9 D8=4=Eо6о9 отGет=оEт8 Dуко6одEт6о =еEет 
от6етEт6е==оEтL 74 оFе=ку EпоEо5=оEт8 �DуппK пDодол64тL =епDеDK6=о E6оN 
деOтелL=оEтL, 74 D4EкDKт8е 6 Eоот6етEт6уNI8E EлуG4OE E6еде=89, от=оEOI8EEO 
к =епDеDK6=оEт8 деOтелL=оEт8, 8 74 EоEт46ле=8е отGет=оEт8 =4 оE=о6е допуIе=8O 
о =епDеDK6=оEт8 деOтелL=оEт8, 74 8EклNGе=8е< EлуG4е6, ко7д4 Dуко6одEт6о 
=4<еDе64етEO л8к68д8Dо64тL �Dуппу, пDекD4т8тL ее деOтелL=оEтL 8л8 ко7д4 у =е7о 
отEутEт6ует к4к4O-л85о 8=4O Dе4лL=4O 4лLтеD=4т864, кDо<е л8к68д4F88 8л8 
пDекD4Iе=8O деOтелL=оEт8. 

Л8F4, от6еG4NI8е 74 коDпоD4т86=ое упD46ле=8е, =еEут от6етEт6е==оEтL 74 =4д7оD 
74 под7ото6ко9 ко=Eол8д8Dо64==о9 D8=4=Eо6о9 отGет=оEт8 �DуппK. 

ОтветEтве==оEтP ауд8тоDа 7а ауд8т ко=Eол8д8Dова==о9 D8=а=Eово9 отчет=оEт8 

�4H4 FелL EоEто8т 6 полуGе=88 D47у<=о9 у6еDе==оEт8 6 то<, Gто ко=Eол8д8Dо64==4O 
D8=4=Eо64O отGет=оEтL =е EодеD68т EуIеEт6е==KE 8Eк46е=89 6EледEт68е 
=едо5DоEо6еEт=KE де9Eт689 8л8 оH85ок, 8 6 6KпуEке 4уд8тоDEко7о 74клNGе=8O, 
EодеD64Iе7о =4Hе <=е=8е.  47у<=4O у6еDе==оEтL пDедEт46лOет Eо5о9 6KEокуN 
Eтепе=L у6еDе==оEт8, =о =е O6лOетEO 74D4=т8е9 то7о, Gто 4уд8т, пDо6еде==K9 
6 Eоот6етEт688 E �!�, 6Eе7д4 6KO6лOет EуIеEт6е==Kе   8Eк46е=8O пD8 8E =4л8G88. 
�Eк46е=8O <о7ут 5KтL Dе7улLт4то< =едо5DоEо6еEт=KE де9Eт689 8л8 оH85ок 8 
EG8т4NтEO EуIеEт6е==K<8, еEл8 <о6=о о5оE=о64==о пDедполо68тL, Gто 6 отделL=оEт8 
8л8 6 Eо6окуп=оEт8 о=8 <о7ут по6л8OтL =4 Mко=о<8GеEк8е DеHе=8O полL7о64теле9, 
пD8=8<4е<Kе =4 оE=о6е Mто9 ко=Eол8д8Dо64==о9 D8=4=Eо6о9 отGет=оEт8. 

� D4<к4E 4уд8т4, пDо6од8<о7о 6 Eоот6етEт688 E �!�, <K пD8<е=Oе< пDоDеEE8о=4лL=ое 
Eу6де=8е 8 EоED4=Oе< пDоDеEE8о=4лL=K9 Eкепт8F87< =4 пDотO6е=88 6Eе7о 4уд8т4. 
КDо<е то7о, <K 6Kпол=Oе< EледуNIее:  

 6KO6лOе< 8 оFе=864е< D8Eк8 EуIеEт6е==о7о 8Eк46е=8O ко=Eол8д8Dо64==о9
D8=4=Eо6о9 отGет=оEт8 6EледEт68е =едо5DоEо6еEт=KE де9Eт689 8л8 оH85ок;
D47D454тK64е< 8 пDо6од8< 4уд8тоDEк8е пDоFедуDK 6 от6ет =4 Mт8 D8Eк8; полуG4е<
4уд8тоDEк8е док474телLEт64, O6лONI8еEO доEт4тоG=K<8 8 =4дле64I8<8, Gто5K
Eлу68тL оE=о64=8е< длO 6KD46е=8O =4Hе7о <=е=8O.  8Eк =ео5=4Dу6е=8O
EуIеEт6е==о7о 8Eк46е=8O 6 Dе7улLт4те =едо5DоEо6еEт=KE де9Eт689 6KHе,
Gе< D8Eк =ео5=4Dу6е=8O EуIеEт6е==о7о 8Eк46е=8O 6 Dе7улLт4те оH85к8, т4к к4к
=едо5DоEо6еEт=Kе де9Eт68O <о7ут 6клNG4тL E7о6оD, подло7, у<KHле==K9 пDопуEк,
8Eк46е==ое пDедEт46ле=8е 8=DоD<4F88 8л8 де9Eт68O 6 о5Eод E8Eте<K
6=утDе==е7о ко=тDолO;

 полуG4е< по=8<4=8е E8Eте<K 6=утDе==е7о ко=тDолO, 8<еNIе9 7=4Gе=8е
длO 4уд8т4, E FелLN D47D45отк8 4уд8тоDEк8E пDоFедуD, Eоот6етEт6уNI8E
о5EтоOтелLEт64<, =о =е E FелLN 6KD46е=8O <=е=8O о5 MDDект86=оEт8 E8Eте<K
6=утDе==е7о ко=тDолO �DуппK;
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 оFе=864е< =4дле64I89 E4D4ктеD пD8<е=Oе<о9 уGет=о9 пол8т8к8 8
о5оE=о64==оEтL оFе=оG=KE 7=4Gе=89, D4EEG8т4==KE Dуко6одEт6о< 8
Eоот6етEт6уNIе7о D4EкDKт8O 8=DоD<4F88;

 дел4е< 6K6од о пD46о<еD=оEт8 пD8<е=е=8O Dуко6одEт6о< допуIе=8O
=епDеDK6=оEт8 деOтелL=оEт8, 4 =4 оE=о64=88 полуGе==KE 4уд8тоDEк8E
док474телLEт6 – 6K6од о то<, 8<еетEO л8 EуIеEт6е==4O =еопDеделе==оEтL 6 E6O78
E Eо5Kт8O<8 8л8 уEло68O<8, 6 Dе7улLт4те котоDKE <о7ут 6о7=8к=утL 7=4G8телL=Kе
Eо<=е=8O 6 EпоEо5=оEт8 �DуппK пDодол64тL =епDеDK6=о E6оN деOтелL=оEтL.
�Eл8 <K пD8Eод8< к 6K6оду о =4л8G88 EуIеEт6е==о9 =еопDеделе==оEт8,
<K дол6=K пD86леGL 6=8<4=8е 6 =4Hе< 4уд8тоDEко< 74клNGе=88
к Eоот6етEт6уNIе<у D4EкDKт8N 8=DоD<4F88 6 ко=Eол8д8Dо64==о9 D8=4=Eо6о9
отGет=оEт8 8л8, еEл8 т4кое D4EкDKт8е 8=DоD<4F88 O6лOетEO =е=4дле64I8<,
<од8D8F8Dо64тL =4Hе <=е=8е. �4H8 6K6одK оE=о64=K =4 4уд8тоDEк8E
док474телLEт64E, полуGе==KE до д4тK =4Hе7о 4уд8тоDEко7о 74клNGе=8O.
Од=4ко 5удуI8е Eо5Kт8O 8л8 уEло68O <о7ут пD86еEт8 к то<у, Gто �Dупп4 утD4т8т
EпоEо5=оEтL пDодол64тL =епDеDK6=о E6оN деOтелL=оEтL;

 пDо6од8< оFе=ку пDедEт46ле=8O ко=Eол8д8Dо64==о9 D8=4=Eо6о9 отGет=оEт8
6 Fело<, ее EтDуктуDK 8 EодеD64=8O, 6клNG4O D4EкDKт8е 8=DоD<4F88, 4 т4к6е
то7о, пDедEт46лOет л8 ко=Eол8д8Dо64==4O D8=4=Eо64O отGет=оEтL, ле64I8е 6 ее
оE=о6е опеD4F88 8 Eо5Kт8O т4к, Gто5K 5Kло о5еEпеGе=о 8E доEто6еD=ое
пDедEт46ле=8е;

 пл4=8Dуе< 8 пDо6од8< 4уд8т �DуппK длO полуGе=8O доEт4тоG=KE =4дле64I8E
4уд8тоDEк8E док474телLEт6, от=оEOI8EEO к D8=4=Eо6о9 8=DоD<4F88 оD74=874F89
8л8 подD47деле=89 �DуппK, 6 к4GеEт6е оE=о6K длO DоD<8Dо64=8O <=е=8O о
ко=Eол8д8Dо64==о9 D8=4=Eо6о9 отGет=оEт8 �DуппK. �K от6еG4е< 74
Dуко6одEт6о, =4д7оD 74 Eодо< 4уд8т4 8 пDо6еDку D45отK по 4уд8ту, 6Kпол=е==о9
длO Fеле9 4уд8т4 �DуппK. �K оEт4е<EO пол=оEтLN от6етEт6е==K<8 74 =4Hе
4уд8тоDEкое <=е=8е.

�K оEуIеEт6лOе< 8=DоD<4F8о==ое 6748<оде9Eт68е E л8F4<8, от6еG4NI8<8 
74 коDпоD4т86=ое упD46ле=8е, до6одO до 8E E6еде=8O, по<8<о пDоGе7о, 8=DоD<4F8N 
о 74пл4=8Dо64==о< о5Jе<е 8 EDок4E 4уд8т4, 4 т4к6е о EуIеEт6е==KE 74<еG4=8OE 
по Dе7улLт4т4< 4уд8т4, 6 то< G8Eле о 7=4G8телL=KE =едоEт4тк4E E8Eте<K 6=утDе==е7о 
ко=тDолO, котоDKе <K 6KO6лOе< 6 пDоFеEEе 4уд8т4. 

&уDуHе6 !еD7е9 �67е=Lе68G 

(О �� № 21906101428), 
 уко6од8телL 74д4=8O, 
Л8Fо, упол=о<оGе==ое 7е=еD4лL=K< д8DектоDо< =4 подп8E4=8е 4уд8тоDEко7о 
74клNGе=8O от 8<е=8 �О � & (О �� № 12006020384), де9Eт6уNIее =4 оE=о64=88 
до6еDе==оEт8 от 24.08.2022 7од4 

13 <4O 2024 7од4 
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